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Q4

Using minimum number of gates, design a combinational circuit that has 4 inputs
(A,B,C.D) and whose output is to be determined as follows: For each input combination,
the output represents the total number of consecutively equal bit pairs. Overlapping is
allowed. For example, for the input combination 0101, the output is 0; For the input
combination 0000, the output is 3; For the input 1100, the output is 2 etc... Show the
details of your work. Assume that the complements of all inputs, except input A, are not
available.




